BFOE TLUR—RE—5

A NBERYT—RR—YDER | FADShoyr—RR—ybER | RARERr—2R—voEm | f# S o) B2
A7 A Ay O
NBERYr —RR—Y D ER
1-0 1-0 4 1 1
" 1 113 0
ATfL 0 0-1 2 -0
A7 A A4 A
[FADIRyr—RR—Y D ER
0-1 0-0 2 2 2
|1 1 1 1
B14iL 1-0 5 1 -1
A @ A4 A
FFERBIR Y —RR—Y DEF
-1 0-0 1 1 3
.10 3|1 1
C1{i -2 1 -1 0




EI8EEFRR—YDEMARYT—

(ZFDE TLoR)——5]

Ev g

RRRE

a ARy —RAR—YDER | BUSa=Thor—s5TAE—YER | [FADSRvr—RAR—YSER | [E&Ryr—RR—Y D EH ﬁ g
al [ ] ab (@] a4 [ )
Bl — ARy DER
0o - 1 5 - 0 0o - o 3 3
0 1 6 0 0 1
(a3fi1) 0 - 0 1 -0 [
al O a3 [e) ab [ ]
BT 21=F R r—05TAR—YDER
1 -0 4 - 0 0o - o0 6 2
1 0 10 0 0 1
(b3{1) 0 - o0 6 - 0 [
ab [ ] a3 [ ] a2 [
[EAD3 el — AR —Y DR
0 - 5 0 - 4 0 - 6 0 4
0 6 0 10 0 10
(c34i1) 0 - 1 0 - 6 0o - 4
a4 o) ab o) a2 o)
RByr—RR—Y D ER
0 - o 0o - o 6 - 0 9 1
1 0 1 0 10 0
(d3{i) 1 - 0 1 - 0 4 - 0
b FEUTRBERK—Y DER | WAy —AR—YDEE | W7ATRAr—2k—vowm| B | m | » p
b1 ) b3 e}
TEUTREERAR—YLER
0o - 2 1 -0 3 1 0 2
0 6 1 0
(e3fi) 0o - 4 o - o
b1 (o) b2 (o]
WAy —RAR—Y D ER
2 - 0 2 - 0 6 2 0 1
6 0 6 0
(£34i1) 4 - 0 4 - 0
b3 [ J b2 [ ]
BT A — ARy DR
0o - 1 0o - 2 0 0 0 3
0 1 0 6
(g34i) 0o - 0 0o - 4

55 £T—ILE2F—LIE TUURY—RBN—F AV MER,




